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Page Fault 45i%.

: BxA15dfAAA
! Axeeeeeeee, Hxeeeeeeee, Hxeeeeeeee, Hxeeeeeeee
! Bxeeeeeeee, Hxeeeeeeee, Hxeceeeeee, Hxeceeeeee
: AxAAdeab8b
. BxBBREBAA8
: BxBBA182086
: AxAAAAAARAZ
: BxBBAEBa28

ask: Bx1626b98 "tShellB"

Hx1626b98 (tShellB): task Bx1626b98 has had a failure and bas heen stovoved.
Ax16260b98 (tShellBA): The task heen terminated because it

that raised the signal 11.
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1 #include <vxWorks.h>

2 #include <taskLib.h>

3 #include <stdIo.h>

Z=void aaa()

5 {

6 TASK_DESC taskDesc;

7 char sss[0x10001]="hello";

taskInfoGet (0, &taskDesc) ;
1 printf ("td stackSize=0x%x=%d\n",taskDesc.td stackSize,taskDesc.td stackSize)
13 printf ("td pStackBase=0x%x\n", taskDesc.td pStackBase):

"

(
printf ("td pStackEnd=0x%$x\n", taskDesc.td pStackEnd):
13 printf ("sss=0x%x\n", sss):
14 printf ("sss[0x10000]=0x%x\n", sss+0x10000) ;

15 }
1E X86 ) VxWorks B B /MEL AT E

ask spawned: id = Bx162e258, name = t1
alue = 23257688 = Bx162e258 = P’
> td_stackSize=Bx4e28=208080

d_pStackBase=Bx172aaab

d_pStackEnd=8x1725c88
sss=Bx171a9db
sss[Ax188881=Ax172a9db

DL BIAES t1 BT IR BAME 20000, (HAE R H A A 0x10001 KA sss, R B A
AR . sss PR ML 0x172a9db ISTEAE SN, {H sss BUEIAHHE 0x171a9db B4 HE T
FeJEEl [0x172aaa0, 0x1725¢80] o IX W FFIZ — N8, w2 HIRIKIK Page Fault T .
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1E (Task X RG/T5) BRI, AL SHIEREMERIN—A taskSuspend (0), #'EH
k. SRIGE AT LLA checkStack T

1 #include <vxWorks.h>
2 #include <taskLib.h>
3 #include <stdIo.h>
4-void aaal()

5 {
6 TASK _DESC taskDesc:;

7 char sss5[0x10001]="hello";

taskInfoGet (0, &taskDesc);
1€ printf ("td stackSize=0x%x=%d\n", taskDesc.td_stackSize,taskDesc.td stackSize);
|1 printf ("td pStackBase=0x%$x\n", taskDesc.td pStackBase):;
12 printf ("td pStackEnd=0x%x\n",taskDesc.td pStackEnd):;
13 printf ("sss=0x%x\n", sss);
14 printf ("sss[0x10000]=0x%x\n", sss+0x10000) ;
15 taskSuspend (0) ;

> checkStack tl
NAME ENTRY SIZE CUR HIGH MARGIN

il aaa x162e25 20000 0 20000 0 OVERFLOW
(Exception Stack) 6880 0 100 b780
value = 1 = 0Ox1
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Components

Component Confi i} s Tle [

Description
@ _threa
& atomic
& binary/|
& binary

& countil
& countil Select components to include:

Including components in the kernel configuration.

Note: Components that are marked as default are

’ Description
[~ @ enable guard pages for kernel task stacks

@ enable
@ enable
@ enable
& except
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excOsM:FATAL: Hull taskIdCurrent, or bad stack pointer, errno = BxBB8888880

ress any key to stop auto-boot...
1

[UxHorks Bootl: e

xc0sM:FATAL: Hull taskldCurrent, or bad stack pointer, errno = BxHB0B888888

[Uxllorks Bootl: _
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1 #include <vxWorks.h>

2 $#include <stdIo.h>

4 int al=1;
5 int a2[l]={2}:
6 int a3=3;
T=void aaa()

printf("al=%d,a2[0]=%d,a2[1]1=%d,a3=%d\n",al,a2[0],a2[1],a3):

11 a2[1]=100;
12 printf("set a2[1l] to 100\n"):;

14 printf ("al=%d,a2[0]=%d,a2[1]=%d,a3=%d\n",al,a2[0],a2[1],a3):

16|}

Bl a2 RA—/ R a2(0], HEIRER, SATHANRE a2[0]F1 a2[1],
> Sp aaa

ask spawned: id Ax162e128, name = t1

alue = 23257384 = Bx162e128 =

> al=1,a2[81=2,a2[11=3,a3=3
set a2[1]1 to 168
1=1,a2[8]=2,a2[1]:188,a3=1d[

A LVER], 5 a2l1]l, SEPrigfER) a3 [k
>d &al,1,4

OTE: memory values are displayed in hexadecimal.
AxAB5eb6bfA: ©BABBARAA1

alue = B = Bx8

> d &a2,2,4

OTE: memory values are displayed in hexadecimal.

xBB5ebbfA: ABRABRAZ2 ABRBBAG4
alue = 8 = Bx0

> d &3, 1,4

OTE: memory values are displayed in hexadecimal.
HxB85e6bfA: AaBBABBG64

alue = B = Bx8
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1 #include <vxWorks.h>
2 #include <stdIo.h>

4 int al=1;
¥ 1nt as=3;
d int a2[1]={2}:
/-void aaal()

printf ("al=%d,a2[0]=%d,a2[1]=%d, a3=%d\n",al,a2[0],a2[1],a3);

11 a2[1]=100;
12 printf ("set a2[1l] to 100\n"):;

4 printf ("al=%d,a2[0]=%d,a2[1]=%d, a3=%d\n",al,a2[0],a2[1],a3):

16 }
)8 VxWorks, FATAEFE a2 GIH 2

> lkAddr &a2

xBB5eb6bf4 a3 data
xBB5e6bf8 a2 data
xBB5ebbfc runtimeName data
xBB5eb6chBB vxHorksUersion data
xBB5eb6chB4 runtimeVersion data
xBB5e6chB8 runtimeVersionFull data
xBB5ebcBe creationDlate data
xB85eb6cl1B __cplusXtors_o data
xBB5ebc14 cplusXtorStrategy data
xBB5eb6c18 linkedCtorsInitialized data
xB85ebclc __cplusDem_o data
xBB5e6c28 cplusDemanglerMode data
alue = B = Bx8

> runt iMmeName

untimeName = BxSebbfc: value = 5853753 = &~£oc220 - °'0°
>

e, BN EN runtimeName, AKX HIMEZE 0x595239
WREPATIEY, HEEENIE
> Sp aaa
ask spawned: id = Bx15fc358, name = t1
alue = 23853136 = Bx15fc358 = 'P’
> al=1,a2[81=2,a2[11=5853753,a3=3
set a2[1] to 188
1=1,a2[81=2,a2[11=1808,a3=3

> runt imMeName

untimeName = Bx5ebbfc: value = 188
> _
JE T A2 & runtimeName BAE K T -
HEXA VxWorks RABE RN, EEHETEZE, MATREH MES U MAE runtimeName,
It o i m s, (HAANEE, & REEEH T 4T aaa AT R T




